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Run 4591 triggerwise, sums: All

Entries: 3844303

Mean: 4174.0208 +/- 2.1075

Std Dev: 4132.2182 +/- 1.4903

Run 4591 triggerwise, sums: All
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Run 4591 triggerwise, sums: Beam OFF

Entries: 2394

Mean: 1121.8977 +/- 33.9183

Std Dev: 1659.5741 +/- 23.9839

Run 4591 triggerwise, sums: Beam OFF
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Run 4591 triggerwise, sums: Beam ON, Laser ON

Helicity==0

Helicity==1
Entries: 902666

Mean: 5197.0205 +/- 5.4861

Std Dev: 5212.3010 +/- 3.8793

Entries: 902204

Mean: 5188.2791 +/- 5.4640

Std Dev: 5189.9359 +/- 3.8636

Run 4591 triggerwise, sums: Beam ON, Laser ON
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Run 4591 triggerwise, sums: Beam ON, Laser OFF

Helicity==0

Helicity==1
Entries: 993384

Mean: 3268.0698 +/- 2.5363

Std Dev: 2527.8943 +/- 1.7934

Entries: 993369

Mean: 3274.4427 +/- 2.5358

Std Dev: 2527.3942 +/- 1.7931

Run 4591 triggerwise, sums: Beam ON, Laser OFF
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